BORILLA oPORTS

Plate Rack white 50mm 4 holders

(10000794)




“PULORILLA oPORTS

Washer: (910) Hex Nut: (M10)
7 \
\\ /
19x 8x
— Hex Bolt: (M10%87)

— 2

— Hex Bolt: (M10%70)

S 2X

i Hex Bolt: (M10%67)

— 4x

Hex Bolt: (M10%25)




BORILLA oPORTS

>

&

\#

62 cm x 50 cm x 106 cm

Dimensions complete:
Maximum loading: 350KG




1 — Hex Bolt (M10%87)-2PCS

I Hex Bolt (M10%67)-4PCS

7 N
A\ /

Washer (#10) ~12PCS Hex Nut (M10) -6PCS




2 — Hex Bolt (M10%70)-2PCS

f—

Hex Bolt(MlO*ZB) —3PCS

Ome

Washer (¢10) -7PCS Hex Nut (M10)-2PCS




